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2.5625

1 1121 5625

L ) %5
- 1 9 @ 170000 ® 210000

2— 9L
< 16 @ 16
9.5625 — 20020 5625 + 625 9

10000 ~ 210000=625 ~ 16
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o) 7} AL ATA] TS T5HA S
O 17+2 © 38+4
35 65
© 7 ® 3
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> =g 8125

@17+2=285
©38+4=95

@%:35+4:8.75

65
@§:65+6=8.125
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@ 30+40 ® 48+ 64
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18+24=3+4=0.75
D9+12=3+4=0.75
@®6+8=3+4=0.75
®10+16=5+8=0.625
@30+40=3+4=0.75
®48+-64=3+4=0.75
wrEhA Sxo] thE A2 @YY




11 9 17
D 1.7 ®) 1E ® 1625 @ 1E %
4
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D 1.7
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1— =1.
@ = 6875
3 1.625
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1— =19
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17
1— =1.85
® 20
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ha

240 x 150 = 36000( m

2) = 360a = 3.6 ha




7F27}9.5cm, Al27F 16.8 cm 2l

21 242 Ropo] RS 45
U ke B9 REo] Holk B am? 1A T L

9.5 x 16.8 X 45 = 159.6 x 45 = 7182( cm?)




9.

of® #=of 5.9 & FofoF & AS ARt HAHY 10.4 7F =AY

o}, mhe A ALE dukelx] TehAl .

> E.

[> =D 26.55

)+5.9 = 10.4
)=104-59 =45
A& 4.5 % 5.9 = 26.55
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2.8cm
1
_ 1 [
~~--54cm---
= cm?

(k=] Hol)- (AzEg ) Hel)
= (35+54)x28%0.5-3.5x2.8
= 12.46 — 9.8 = 2.66( cm?)




